
 1 

 
 
Item # | Product Name:   #302196 Wave Armor Dock to Pro 5 & 6 Port Connector Kit  
 

Parts List: Tools Needed: 

1.  Plastic connector, dock to port qty 2 1. Ratchet, short extension and 9/16” socket 

2.  Blue colored aluminum connector pins qty 2 2. Mallet or Maul 

3.  Hdwe bag: 3/8 x 2” bolt qty 2, 3/8 lock washer qty 2, 
3/8 heavy washer qty 2 

3. Lubricant (optional) 

4. Hdwe bag: 3/8 shoulder bolt qty 2, 3/8 thin washer 
qty 2 

4. 3/16 allen wrench or socket bit 

5. 5. 

6. 6. 

 
Assembly Instructions: 
 

1. Slide plastic connectors into the channel on the dock as shown here. Make sure the threaded inserts 
are facing upward. Lubricant will allow the connectors to slide easier. At least one of the threaded 
inserts on one of the connectors will need to line up with a slot on top of the dock. It may not be 
possible to align both connectors with a slot. Secure the connector or connectors with the 3/8 x 2” bolt, 
lock washer, and heavy washer. Tighten securely with the ratchet and 9/16 socket. 

 
 

 
  
 
  

 
 

 
 
 

 
 
 
 
 
 

 
 
 
 
 

 
 
 
 
 

wavearmor.com 

Slide plastic connectors into 

channel here. 

Align threaded insert with slot in the 

dock. Secure with 3/8 x 2 bolt and 

washers. 



 2 

2. Align port with the two plastic connectors. Push the port forward so it can be connected to the dock.  
Insert connector pin through the port and through the hole in the plastic connector. Secure connector 
pin with the 3/8 shoulder bolt and thin washer. Repeat on the other side. Tighten securely with the 
allen wrench. 

 
 
 
 
 
 
  
   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 

Completed unit. 

Push port forward and 

insert connector pin here. 


